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Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at
the exam centre.
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2. Part 'ﬁ contains 20 questions and each question in this part carries ‘Five marks’.
& I e 4 ST & F AR TN ot 20 W B
3. Part ‘B’ contains 10 questions and each guestion in this part carries ‘Ten marks’.
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4, Use ofCaqulator is Prohibited. Marks will be awarded stepwise.
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6. The t:uesum paper can be retained by the candudates post exam (T & A1g gl gve oA & o ol
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PART A (20 x 5 = 100 MARKS)

Q.1 Find the largest number that will divide 398, 436 and 542, leaving remainders 7,
11 and 15 respectively, / =7 #a# £t @Ay = fwfo e 398, 436, 542 T AT T H
Fo: 7, 11 AT 15 dmaward = [ 7).

B . Jimoaesvizedt - 2D5
Q2 Simplify /T e 4—5ﬁ

Q.3 The adjacent sides of a rectangle are —6p? + ?p q° + pq and 7pq — 5p° + 9p’q
Find its perimeter. ,’m’ AT mgmﬂ —6p? + 7p° q + pq e-?l‘rir
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Q4 Showthat /firg e 20X P — o

(16a4)4x(a?)®

Q.5 Prove that the interior angle of a regular polygon is three times the exterior angle
of a regular decagon. / Torz R i T A 7 AT 07 U SHRAGA F AT 100
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The price of sugar increased by 20%. By how much percent should Dinesh reduce

his copsumption of sugar so that expenditure of sugar'-doe_s not increase? / =1 #t

e i 20% 1 3fz g2, B 71 961 7 Sl wwd F1 fraa fiem F7 T e M gE
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Q.7 The LCM of two numbers is 9 times their HCF. The sum of HCF and LCM is 500.

Find their HCF. / A1 @® T T FHTTAF 375 HETH FATTATE 9 AT 2 A7 g
;AT _,OOQJEaﬁammaﬁ*rmmﬁﬁm - 506
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i | N DRSNS R aihder, :

L lces 200 of his money. After:spending 25% ofithe remaince)
Q9 Aman Lo e mich money did e originally have? / s =i st %7 20% ot
3 e o5% W O TS AR A SRR A SRR A
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: J 300
: ise the h“uwing'{ﬁ-ﬂ-ﬁqﬁamwftﬁq -
Q.10 i:;t:;l_s:eyz Cozt+6yr ((Ary-22) (XY 32)
(b) 3 — 12(a—b)* 2 ( |-20+26) C 1 +20-2F)

two station A and B is 690 Km. Two cars start simultaneously
from A and B towards each other and the distance between them after 6 hqurs is
20 Km. If the speed of one car is less than the other by 10km/hr, find the speed of
each car. / 217 Asie BT A 1 2 690 et &) F1 A nw A aw 24T A B A
v et B AT Tt 21 6 2 AT T A1 A1 87 30 Fant 21 afy o w7 Ay 5w T A
Fp::rra 10 Ty %% 2 41 wars e o afa fAafem So kv")/«%(‘q‘ o kﬂl’hr

Q.11 Distance between

Q.12 2.2 cubic dm of brass is to be drawn into a cylindrical wire 0.50cm in diameter.
‘Find the length of the wire. / 2.2 &% Z#ivfrz dram 1 0.5 #t 2 ¥ 0F FAFHIL AL H

AT A A A TR = ] 200 e

Q.13 The sum of three consecutive numbers is 156. Find the number which is a
multiple of 13 out of these numbers. / & FWrTT Fw=ra &1 417 156 §1 78 7=47 A1d

AT AT TTIIFTTTE =0

Q14 Evaluate /s #%: V968 + V1375 = 2 sfia) + Safjy

Q.15 ]f%uf a number exceeds its %by 44, Find the number. / af2 & HEAT FT = AT TS
W 44 ATTF 2 91 48 581 719 T L4 o : i

Q16 Ifx+ ;-‘ = 11, then find the value of following / #f% x + = = 11 a1 fmfafam 7 w7
F7
(a) x* +r—12 (b) x* +;1;
o =19 = 14159
; t: an auditorium, 300 tickets were sold. The total sale of tickets was Rs 1250. If
d; :cget. were of two denominations of Rs2.50 and RsS. How many of each
i ;ﬂlnatfnn were s-ulq? / TF 9T A 300 fee = o Atk 2,50 7 AT 5 T AEgAA H
AT e F R e iy of 25 9 oD tickeld |
Qis gk | &S O 200 tickds
¢ s tnsse;l once. List the outcomes. Also find the probability of / T T UH
(2) G R AR R A e o oy P AST
etting an even Prime Number / EKED & fr
(b) Getting non prime and T e
£ and non composite No, / T
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wastage o the Aluminium strip? / #

e e & ey =19 83 1.3 SR
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Q.20 The rectangle PQRS, angle OPQ=48", find angle 'RSHQ_! A=t fray vy =y PQRS

L OPQ=48" 2 AT 2 RSQ FT 7T M TY |
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L RsQz= 48"

PART B (10x 10 =100 MARKS)

Q.21 Some toffees are bought at 9 for Rs10 and an equal number at 11 for Rs10. If all
toffees are sold at 10 for Rs10, find the gain or loss percent. / ez 10 7 % 9 3T
T St & 10 7 & 41 w A AT 21 Az Wit 21 A 10 = 7 10 ¥ A § 35y A g @

sitmawafrEsE Sl 1 /4 LosR

Q.22 A lead pencil consists of a cylinder of wood with a solid cylinder of graphite filled
into it. The diameter of pencil is 7mm, the diameter of the graphite is 1mm and
length of pencil is 10cm. Calculate the weight of the whole pencil, if the specific
gravity of the wood is 0.7gm/cm? and that of the graphite is 2.1gm/cm?, / oF 9%
Sy A AFET T e F o 1 21 R s W £ i s 7 ff @ o T
=t 1 fasy Efae A oaTE 10 @4 21 SR w39 T w0 aft et a e e 0.7
ST/ AT IFEE A2 TAERE R 5 204--98 .

—

Q.23 Fhe difference between the compound interest and simple interest on a certain
sum of money at 10% per annum for 2 years is Rs 500, Find sum when the
interest is compounded annually. / © ffam ofiroz 10% sfi=d frzzd 237 F f&v
T =T ST AT S AT ST 500 T 21 A7 Ay wi| fife 9= s amieE oA

P
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Q.24 120 men had food provision for 200 days. After 5 days, 30 men died due to an
epidemic. How long will the remaining food last? / 120 797 ¥ 7 200 =47 fao
ﬂ:ﬁﬂimﬁ'! 5 fa7 a2 30 1EuT (=fwT) ﬁmmﬂﬁﬂé’rﬁ S FATET AT FAAT
TETITT €0 move Ao -
Q.25 Find the value of p if / F#afafaa 7 p #1590 Tv7 &2
()8p = (59)* = (51)* 110 "
(b)abp = (3a +b)* = Ba-b)* 12
() 143p = (76)* = (67)* 9
(441 - p? = @DE—(17)% |7
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3

¥
— o



Q.27

Q.28

Q.29

Q.30
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Construct a trapezium PQRS in which PQIRS, PQ=8cm, QR=6cm, RS=4cm,
£Q =60° / U% 7HFT PQRS #9120 57 PQ|RS, PQ=8 7+, QR=6 #1, RS=4 &1 a7

£Q =60°

3 i .
In the above figure PQRS is a parallelogram. T is the midpoint of PQ and ST bisect

£S. / PQRS v = £ 9t T, weafag & PQ &1 % ST fawres 7 721 2 25 97

Prove that /= -  (a) QR=QT
(b) RT bisects £R
(c) £STR=90°

Three sets of English, mathematics and science books, containing 336, 240 and 96
books respectively have to be stacked iri such a way that all the books are stored
subject wise and height of each stack is the same. How many stacks will be there?

J s, afer i s e ¥ S A M w336, 240 s 96 BT #1 TR T T
e 7 2 T & P st Frrd e 21 S wers 3¢ 1 SATE e A i e 3 2,
AT 1 ND-% Stocks \5\43: 2, Hdbz &, Mars =7

If to unbiased dice are thrown what is the probability of getting a sum of 5? /
afF =7 fFvger WA 5 979 & A1 6 F1 907 978 o i ariEway = 27 [
2
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